i)ﬂ_f_oae shont fLeedbocek -

A Vo\-l-aae_ Shunt feedback is  illus+vated

in F"auw_ below « Hene o froction of the oo'c']‘.)ol_- vnll-oae-
is sopplied in Pparallel with the input Voltaae though

the feedback netwonk - The feedback siavml T is
propomtional +to the  ookpot \:m’c&de Vo . Therefore the

+ 15 type
feedoock -Fo.c.-k'oﬂ. is amaﬂ by ]3___ __;;E_ . this typ of

&m?\i{;m is coVled a trons mesistance G&“?‘;F‘e?‘—-
the voltaae. - shont  feedbock provides A stabilised

: J
ovenall gom ond decreasges both input ond ouvkput

Nesistanros by o Lacton (' + 6133

Scanned with CamScanner




R > —

l-l*Pl?

— I

t Basic Ampli fern

with aam &

Feed back

networx P

angt' ond outpot Jesis tonles

-—

\
p -0

Ro

79

Ve oo
RI — - -
4 1-:5 T 4-3:-{_
L
1?;‘(; - —
1+ ﬁ\i%
Tho Yo thFG’r imP@clahc.e. d&%_s

pactor (4 pwp)
eot?a'c 'I.’m]::e.dowu‘_é 1

Vc.: IpRo + lQI'i

Vbl%oﬂo, Shuont _feeclbaa\{.

Vl' ; V({I{
Ty & {!Vﬁ 1+ B Vo
r¢
L&J.LLP_QA by o

_.,q/fI 4767/*% o
\Jy =

Scanned with CamScanner



ug o I‘g‘-'-D I{:—I,P Haem

7
VU":— 'IDQD—-H'I_[‘_

\fe:. To Rg - H'F\fg

VﬁCH_P'FB = Tgo Ry

Vo Ro
R = = = -
of o L+ B 13

5: Connent  Senies [Leedbock _&m?\‘i%}&h_

—

l Bosi Life
% 7 asic amplifien . VO%R‘L
Wit jaiw A j

Feed boltk ‘ g
v T
f Network °

FU: Block d;‘ﬁm 'of +a O-lALU-ULt .n_;u.tﬁ ﬁ&JLQCK.

A block dt'o._a;.gm a,}, o Ounenl  Seases -Jce@_d_bCLCK
(s Mostiared 1y 'FaULQ' above . In cumeul sesies
feedboack | o votkage 13 deVP.LO)DeA which o FMFC’?“HWM
to the ookpot Corrent: This s called Cumrenk feedback
evwwooah v ihn o \Jmkcﬂe that sobbrocts faom thwe
npot Vu‘t{'ode,. Becaute of the sesues Commeckion ok
the mpot ond outpot | the input ongd  Oukpot  Aesistomces
et imueased. This Hype of amplifier O Colled

trons com ductance amplifien s The trams conduetance

feoed bark  Panbna w R in 9wewnn  bu R= vﬂf/.ﬂ.

Scanned with CamScanner



-T“E\"t ond ootgo’f nesistonres
i =Y
I* y —
. "
Vs Vi M;Qx
L
v
It
. Vi
Frz
Vg = Vea Ve = TRyt P To
Vo= aRp+ APV
V= IR + AP TtRL = v+ 8p) TiRi
Vs ‘R{C\*P'F> — b‘\__r_:‘- ‘F?;_C'I'FP‘?)
Iy - }
To obiain the Ovkpot ‘m?o_dcmca csgome.  thaot

Souvice UD““‘@‘G is Jcmns—F&Lec\ to

= : ¥ Capatnt
Vo, Shont cincoived e V§=0, Lesu\-‘mvﬂ oA O
i ik -
T, in to the cineo
\ = "H/LP_M U;_-;:—-\f
Vs = VWi t Vg ‘4' Vs =o +
IDRHV{*FF_E :#A\fﬂpﬂr-vo
Ro ED
To = -AR Tp + __\_]_tL
RO
Yo _ (1+ap) R
= o = i+8ap D
Vo _ g, (reR) 2 3
RO 5 Rog = (1+ap) Ro

ao\:‘\)u’c renminals with

Scanned with CamScanner



4—) Connent — shuont {-‘eecjbacl-c .

the block CL\'n_ﬂM;\m “of cCumrent Shunt -F(-leclbcmk 3

Shown  m -P':aUJ\.G. below

- A Basic F}mp\i fen = R
- T. T
- I SO Wb foin A -° Vo % =

_ |

Fig! Bloci
e ;
Feedback T diﬂ-am ol
hetwoenk FS current Shan
— feed back

The  shunt  cenviectisn at the Wmput educes
the 'lnPut nesistonte and the Senies Cormection at

the output increaseg the oukpot fesistavnce. This is

a tnue comnent amplifien. the cunnent  feedback foctod

15 alue_n by F _ TIp
Tp
. T
Here -meP]i -F-;Q_,‘h,, acdn A = —0
T;

fﬂgut ond oukput fesistances

A

- T o

TN

—

(=
=<

Ty
(»]

fn d—

Fig: Equivalent  ciaenit  of  Cumend Shunt Heedback C(orrechon

Scanned with CamScanner



fnPo't Resistonce

From  Hie £@uix/a!eﬂk Liren

Ig= T;+ Tp

v.
L= L + BL [-,‘.{3: Ip
R: ‘E
Is= 24 BaT;
Co _;‘;t‘ }3 : ) A= Ip
33
L Ig = _\i"_—kFHL .----..W
R R; B>
i. - L
5 - - l-{-ﬂ] s
= [+ e
V: R
}E}-F: _— = L
_;:5 I+ A

OU{‘-PL\% Nesistance !

e Knpw that

I, = I; + I—P
Fed T;-p ; T, = ~I_p
Faom the e:U}.iuMwJ:' cincuol t I = ATy + -\{9
Ko
— V
To = Yo _azp = 2 -ppX
Ra ~a
V, —
Vo | 15 + ap To > ° (’*‘Q‘P)RO
Ko

Scanned with CamScanner
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